
Circle the correct equation based on the given scenario.

Circle the Equation

Andy jogged 3 miles. Emily jogged 2 miles. Which equation can be 

used to find how many fewer miles Emily jogged than Andy?

a. 3  –  2  =  ? b. 3  +  2  =  ?

Jennifer ran 8 miles. Gavin ran 6 miles. Which equation can be used to 

find how many fewer miles Gavin ran than Jennifer?

a. 8  +  6  =  ? b. 8  –  6  =  ?

Tim wrote 20 pages. Dave wrote 15 pages. Which equation can be 

used to find how many fewer pages Dave wrote than Tim?

a. 20  –  15  = ? b. 20  +  15  =  ?


